No £3 7} EEAL 87t T =
CHiSE J1Q 25

1 |1007He| &, @F & LotCt E22[Qt Z2t0o|| ZojLIF 18,000 1 18,000
2 12 s = H=HslA 16,800 1 16,800
3 1Y 128A 1718 S HA HEY Y5 18,800 1 18,800
4 200 12|11 48A[Zt F24 S22t 11,000 1 11,000
5 |7H9] & qd8/3 2HLIE 14,500 1 14,500
6 |7t w4, 2O oA HRsH? Bty E Eo|Hl| 2l E2 1 13,500 1 13,500
7 | ZBLEMO| TE = 2fAlD| 48 o[ C|of 15,000 1 15,000
8 |AANTHOlo| | E siFoICtH Ol gA otE 14,000 1 14,000
9 |A= ZjAME MUt a0l ENE] 16,000 1 16,000
10 n=52 84 OlZa| CIZIE  |BIZA 10,000 1 10,000
11 _._x-l OPEH: ArZF OFO| 2 ME Qto|=Hj| 2| 18,000 1 18,000
12 | EX{Alo| O[2HE The= F =Y A CH2 14,500 1 14,500
13 | 0|R apskXtet AlH| o QF7H AR} oA~ EEA Hogo|C|of 12,000 1 12,000
14 |wIMECHHE = H MA A ohed SHE 15,000 1 15,000
15 |WtMECH K %‘ = A MA AR oted SHE 15,000 1 15,000
16 |7O/= AlE2: M4 @C|M B ST 12,500 1 12,500
17 |HEE HLE HojA 0| %l g2 4t 11,000 1 11,000
18 | Mg|7|7} ofL2ta e g4 S 2H| 16,000 1 16,000
19 |22 ZEH} LIAA FHREALZ || RIS AL 15,000 1 15,000
20 |7ILtel otF HF2FA] =ots | 12,000 1 12,000
21 |71 =5 A CHACH ZOIX| 2| 025 18,000 1 18,000
22 |ZELCH E2I0|E2HY StREC 20| R oA 11,500 1 11,500
23 |Lt= Ots SH{ O M OO E 5= AHO|AYFHYJLICEH |QHe AFEA| ChE 16,000 1 16,000
24 |Lt& 2 morch dor A=0| =Ct O|&0¢ =t 13,800 1 13,800
25 |Lt= ®AOIA H2 Hi R K| AR | 9,000 1 9,000
26 |LHE X|7|&= *c',*’:'ﬂ*s AoH Fot3 15,000 1 15,000
27 |Lto| OtELHR 0|2 it 74 14,000 1 14,000
28 |Lto| T 2fH|7t O|E HZ2A[HE 15,000 1 15,000
29 |Ui AtZol s IHE 2E £eH 23,000 1 23,000
30 |W{olE=2 =3 9 m2[a = 13,000 1 13,000
31 (L eIl sl E e 2E A H 25,000 1 25,000
32 |LHES @ish L & O|Cts| & 14,000 1 14,000
33 |&7u 7 et a2l okECHR Dt AS(RE1R+d OO| 2 A 13,800 5 69,000
34 |SFLE A et O2= OFSCHR st S (R (e OIo| 25 A 12,800 5 64,000
35 |SFLE A et O2l= OFSCHR st S (e e OIo| 25 A 12,800 5 64,000
36 |=Eczt 48 | 14,000 1 14,000
37 | =AFE A AFA B Eropal 13,000 1 13,000
38 | s e H 35 2|20 ETA 15,800 1 15,800
39 |LZEelAHEHE =& I0|EG E|2HULIF 14,000 1 14,000
40 |EfA] BHE X dEY 2 Jz5 11,200 1 11,200
41 [T O ML ZE-2 |StEe|A 15,800 1 15,800
22 |SEH A[Olo] 202 MAF o7 MEcguAR (ol 14,000 1 14,000
43 |2tAE TA TE L|7| &=H Atg 13,000 1 13,000
44 |OrZ9| & e HHlw & 8,500 1 8,500
45 |HY9o| 3l ML Ox| 27| |25 18,000 1 18,000
46 |ZefTt ot TAo|2tE 2k MNIA A 16,000 1 16,000
47 |RI1%t Ele EBQ| 7|= 0|Z% PNE=In == 13,800 1 13,800
48 |Fore| O AR21-30 UK % E30|C|0f 80,000 1 80,000
49 |25t O JEd NESES 16,000 1 16,000
50 |O|C|0f 2|E{2{A| & Ot= 10TH =4 = 13,000 1 13,000
51 |O/C|of, o 0= Zo[of MES A A 12,000 1 12,000
52 |02 ghE 2t =74 =& 13,500 1 13,500
53 |OjAE MAEQIT zex atoj|o| x| 2 2| of 14,800 1 14,800
54 |O|AF MAFQI2 o= roflo| x| 2 2| of 14,800 1 14,800
55 |t A Oj&aH ZATY = || 16,800 1 16,800
56 |2HA O|&2R2 ZATY = I 4| 18,500 1 18,500
57 |HiEQ| DIE2 HiESHX| =0t HE=z wrta gz 13,000 1 13,000
58 |RHEO M get A |OI2E0 16,000 1 16,000
59 |ECHHAE 0|0F7| 4 IS A 14,000 1 14,000




No =9 7} EEAL 87t T =

60 |59 =£EHY BIs= IEZAH 17,000 1 17,000
61 |59 eI2%t HatR AE QENIE 15,000 1 15,000
62 |AHEO| ot A 0| &% =35 14,000 1 14,000
63 |AO|E 17} E|Ct 4E9 9 AHAE 17,800 1 17,800
64 (AP WOl AT|(OFECHR DIzt A ES) =4 Ofo| 28 A 13,800 5 69,000
65 |&OFU= MIAAL mItA1 M AA DA R SHLAE 24,000 1 24,000
66 |&OIAU= MAH AL matA{2 M AA DA EFSHLAE 24,000 1 24,000
67 |&2| Oj= =7t2 F3t ZOtA o|0| =t eIc| 13,000 1 13,000
68 |MY et RAE UHCEEILICH ol A 12,800 1 12,800
69 |AME 27| & H|H" o4 18,000 1 18,000
70 |MUEE= X AUCH T2 H=EHsteA 14,000 1 14,000
71 |MlgolAM 74 MO E 837HK] Al 0]of7| 7tet7to| Ft=E| ALt OtLER ALO| 15,000 1 15,000
72 |M&S HHE 1004E, JE2 A0 EEEIR gty O/C|o= 15,800 1 15,800
73 |MAE2 22 5T 52 1T YAt el 1 K 13,000 1 13,000
74 |2HTtel AT 0|52 2HLIE 13,500 1 13,500
75 |aTt IEeH) FO|AMA A 12,000 2 24,000
76 |8 AlZtol S2=FX| %= &= 0|0f7| MM Xl Aol M 14,500 1 14,500
77 |SCHEE AL TEIEECHIRISYTA 18,000 1 18,000
78 |AEZ| EAF O qE A= 25 13,800 1 13,800
79 |2 Ql 7|E LAA FHNAL || D eI E 10,800 1 10,800
80 |(AlZtE2 A& & AstA ST 12,500 1 12,500
81 |AlZtE2 HEE O0jE o] 5E2e 15,800 1 15,800
82 |AlZtE Ot= HE@dH) AMdd A= 25 11,000 1 11,000
83 |AlZtE Ot= &E2¢4H) dAM INE=mn k= 12,500 3 37,500
84 |AE 22 LIoA 783 Q| 2 E A} 13,000 1 13,000
85 |MCH, & StHA & HOof? &R S5t MY 14,000 1 14,000
86 |WESH HE 3| L2 E MEe AtEh 13,000 1 13,000
87 |M7| HEHSLY| AMEE JERE | SFHE 15,000 1 15,000
88 |OISLCHR 2|7 1~43H MECDESH/M4H) A EMET O] FB(EIC 120,000 1 120,000
89 |OIRE EEX| Y2 = X| ot D=YHO|AUE| 14,000 1 14,000
90 |[OIRE AMZ o|g IEA 9,900 1 9,900
91 |OO]& %ot =2 & HA ZE2|H  |CHHO&F 16,000 1 16,000
92 |Ot%] X| A2 Lof|A| O|lE&E AHAIE 11,000 1 11,000
93 |Ot= & FI{RHEZ X|7|= FYLCH =0|XY CHCHAL Y 14,000 1 14,000
94 |YOIFH £2 = SafA FetArH q2F 420|CIo{ 2= X 15,800 1 15,800
95 |OF& De|o =053 |ofE 13,000 1 13,000
96 |0 & ol z2Y5| | 12,000 1 12,000
97 |0fZloj2t= MA P Eng] AHAIE 15,000 1 15,000
98 |HEAMA EIFSES A 14,500 1 14,500
99 |02l 21 Zd2% ChobREf 18,000 1 18,000
100 |REX AHIYHS Tty LTt O|Zl= g 15,000 1 15,000
101 |k SHgle A2 UHEUSLICH 424 SEjo|= 13,000 1 13,000
102 |29 o|F+=HEH) 9 ASntEg 12,000 2 24,000
103 [R%2 €W EHeo| 20 ZZ|0E Y =E|E 15,000 1 15,000
104 |2FESE OFO| DEEZY ==2XM7t 16,000 1 16,000
105 [T 78 £9o| o|LE Fof ol HEZo|T 16,000 1 16,000
106 | 2|7 At LHY = 5 of ot & 16,000 1 16,000
107|227l RE|E ?e2l2ta REm FHEER ol 17,000 1 17,000
108 |2l7H =i SE CFO|OfL} SFEH Of &HH] 13,000 1 13,000
109 |$2l= At2ta UCH 2o A S At 11,000 1 11,000
110 |$FE XL} HM= S oM XY 16,000 1 16,000
111 | T8 &7 24 EE EH ChobAiBE 17,000 1 17,000
112 |71 €Y mitM HE2Ye 70X | MSEHEHE 11,000 1 11,000
113 |O] M2 X|TE A|RSHA SiF R O|AE EOfA  |HAEH| 12,000 1 12,000
114 |O|A2 off 2ol ofL]zt Zolvt Hy= A = 13,000 1 13,000
115 |O[L4 A|E[ O|OF7| o= e E4 27,000 1 27,000
116 |O|& =32 X Z0|0f ZF7 21M7|F2 15,800 1 15,800
117 |Ol& 9= dE ol& EERE] 15,500 1 15,500
118 (217 Aol x0T LE ARE FHEH B =h S OF QI QHH| 21,000 1 21,000
119 |2l# 1t B0l EO O|EA F86l? AZ|AEY &X|2lg21 13,500 1 13,500
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120 |¥2{AE ofC|M X Qlojof ToF 21M7| 54 18,800 1 18,800
121 |22, 5= 7|4 LiAA FHEAL || FEI S 12,800 1 12,800
122 |H47|2t S5t W Zi0| = 1m|O|X| A& 365 X2 H|oj 0| = 17,500 1 17,500
123 |7|2t S5t W Z40| £[= 1T|O|X| gt=At 365 AEs H|0j 0| = 16,500 1 16,500
124 |THRLOIA EHAf 9l= =8t O|O}7| : H|AE ™ APFRELO| AARIHE 12,000 1 12,000
125 |[KHSLOIA EHA} 9l= <=5t O|OF7| . mo|d ™ APFRELO| AAR I 12,000 1 12,000
126 |KHSULOIA EHAf 91= AlZ5t O]OF7| O|L}7}7| S|HIS|| H& 12,000 1 12,000
127 |THSLOIA EHAf 9= i 5t O]OF7| AZH0| X2 |HE 12,000 1 12,000
128 |THSLOIA] ErAf Q= M St 0|OF7| SEMIZEQt of O] A | = 12,000 1 12,000
129 M ROIM HMA= F=SXE 0[0F7] AHFREO| AARIHE 12,000 1 12,000
130 | ROIM M= 4 0[0p7| AOH| B2 s 12,000 1 12,000
131 | MROIM HMA= FX A 0|0k CHARA 7t Z|He 12,000 1 12,000
132 |XHRLOIA BIAfQl= ME5 0|0FY| O7}Et S|HIS| 2| H& 12,000 1 12,000
133 |Z=MIIQIAE e NN = 13,000 1 13,000
134 |E2[o 2 8EYEE ZEg| HIZtE 2 11,200 1 11,200
135 |&E2|9] EXEHEE 7| = PNESETY=, 15,000 1 15,000
136 |FAEX 22 M2fsH7| 2N 49 18,000 1 18,000
137 | K| 7ot dHo| AAk= HZ0[X|? =g SHE 16,000 1 16,000
138 |X|AXH Ex7| = Q17t XA e MIZFEEBS BOOKS 16,000 1 16,000
139 |K|Ssl 7|E LAA FHNAL || D eI E 10,800 1 10,800
140 |At2tEAER= O|H A TRHCH Z2[=2|5| LIN|"S a4 Zelof 13,000 1 13,000
141 |&et aH|= giCt N K1t EY 13,000 1 13,000
142 | ol Z35|C} 44 Q| T4 14,000 1 14,000
143 |H 23 A SE|ON EAlZ| 02 18,000 1 18,000
144 |[HBto] = HYE QEHF|ZYAEEA 16,000 1 16,000
145 | KA 202 Z 0| | 12,000 1 12,000
146 | EA ARl X g2 = o[E| 13,500 1 13,500
147 | HAE QES =81 GA0& =% 0|37l 2| RELES 18,500 1 18,500
148 | HAE QES =2 : Atz otsh B H| ¥z Q| otelH| = 18,500 1 18,500
149 | K| 02| O] ¢t utshH M E Mziol Z 22,000 1 22,000
150 |9 2| 3% O|A|O] EE 5|3 |ZFA} 14,800 1 14,800
151 |F|0l= 4E, &7|= 92 40|gt 2| M2Zek 13,000 1 13,000
152 |& 2l2&, @5k W52 2= 0lw o|a~d oflo| x| 2 2| of 16,000 1 16,000
153 |RZL}0|Z 9| MA| X O] & A O/ C|o= 14,800 1 14,800
154 |B7IF F=AHE FA5t A H Y 15,800 1 15,800
155 |EHA2 XS YL CHE = Ef 2 A0 14,300 1 14,300
156 |28~ HO|E 187 22 = AEZ|HE 12,000 1 12,000
157 |28~ H 0| E 28t7| 22 = AEZ|HE 12,000 1 12,000
158 |EfIEE 2119 A0 T 2| AHAIE 12,000 1 12,000
159 |HREF24HX| =M =otE | 11,500 1 11,500
160 |[EE5t= MUE I3 dH+2= 82 ZME Ef X[ & =4 14,800 1 14,800
161 |LtT ELC AEZHN | A HIE 12,000 1 12,000
162 |HEEZ2 S=oHHELICH cee A S A 16,000 1 16,000
163 |HO/LAE MAHO| Hads| 0214 2| =4 11,500 1 11,500
164 |F2 Yo A7t B o) Ladsg 19,500 1 19,500
165 |Z =8 ge gL ANSFEL 0 9,900 1 9,900
166 |I|=%t 10CH, MCHE Xt U= 27t ZtEt2|Lt F0]3 |27 0}0] 13,000 1 13,000
167 |2t AH40 EIPNEEe] Z|H =2 16,800 1 16,800
168 |ot=EHHA M40 A= 2 ZH = 16,800 1 16,800
169 |H=20| HO|A CHtEs & o|%d =& 11,500 1 11,500
170 |&1+2f & 0|=0] =& 11,500 1 11,500
171 |18 CHAl 917] e 20 25 13,000 1 13,000
172 |&2 mo| 0jE oA CFARALO[ A A 22,000 1 22,000
173 |SHAIQl 2EZ O|Mz = Be = 16,000 1 16,000
174 |22 ALO|ARA o+t ZEEE 17,000 1 17,000
175 |2XtM = FHX|C 22 2 HAEIOA 12,000 1 12,000
176 |22 &1, ) ALt EpsEl off A 16,800 1 16,800
177 |2teel sHIME B X[ & M= 13,000 1 13,000
178 |&tatatH Mofed CtHel 11,000 1 11,000
179 |22 A=29 1t O3 Oj=4 |Aoto|rC| 17,000 1 17,000
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14,000 1 14,000

15,000 1 15,000

128,500 | 1 \ 128,500




